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(3) 0 4 ( -1
sin coSs
( 5 NS 90 )
(4) z
z 1 1
1 Pn 2 Phh E 3 N E
T " T " T " NS T " E\A N S E W
PnQn 0] 0] 0 NJoo] of o] EJ 20.200] 0.000 ] o0.000[20.200 | o0.000
own|135 [0 | o]4s5] ol o]13s] of o] slas| ol of E] 11.200] 0.000 ] -7.920] 7.920 | o0.000
ABloo o | oo ofof225] ol 0] s]as] of o] wl 28.500] o0.000 | -20.153 | 0.000 |-20.153
Bcloo | o | ofoof ol ol31s] of o N|4s| o]l of w] 11.200] 7.849 | 0.000 | 0.000 [ -7. 849
137 [ o | o43] of of3ss] of o [ N] 2| of o w| 19.800] 19.788 ] 0.000 | 0.000 | -0.601
Pl 90 [0 | ofoo] oo s8] o o [N]|ssl of o 90. 800 27.637 | -28.072 | 28.120 | - 28. 692
-0. 435 -0.573
=/ *%4 0. 7195 = 0.00792 126
(5) Z 1/ 5000
(6) ( —2
(7)
(8)
- (
0.435 | 0.573 N S E W
Pncn | 20.200] 0.222 | 0.097 | 0.127 | 0.097 | o0.000 [20.327 | 0.000 |Pn| 0.000 | 0.000
QA 11.200] 0.123 [ 0.054 [ 0.072 | 0.000] -7.866 | 7.990 | o0.000 |n| 0.097] 20.327
AB 28.500] 0.314 | 0.137 | 0.180 | 0.000 |-20.016 | 0.000 [-19.973 | a| -7.769] 28.318
BC 11.200] 0.122 [ 0.053 [ 0.070 | 7.902] 0.000 | 0.000| -7.779 | b |-27.785] 8.345
P 19.800] 0.218 | 0.095 [ 0.125 | 19.883 ] 0.000 | 0.000 | -0.566 | c [-19.883] 0.566
90. 800 27.882 -27.882 28.318 -28.318 Pn 0. 000 0. 000
( 1 )
cf. 1 2
2 ) A
( 1/200 1/300 )




